Unit 2: Triongles and Congruence Name:

Math 2 Test Review
Triangle Congruence _ S
1. List the five ways fo prove:that triangles are congruent.
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2. For each pcur of- rianglés, tell which of ’rhe above posfulo’res will make the triangles congruen’r
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3. Foreach pair of triangles, tell (a) Are they congruent? (b) Write a Tridné!é'congruency statement. (c) Give
the postulate that makes them congruent.
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Vertical Arigle Theorem
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. Ifone angle of d linear pairis obtuse, then the other angle is QC_U“'Q\
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. Find the measures of x and y in each problem. Make sure to show your work.
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10. Find the indicated angle measure.
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11, Soive for x.

@ p R__#,

HKE2+30 = BHoxX

Uxt 32>Q+L6X
4= 2%

2= X - .

b

sxrasigmux [ 4ui2=102

&

Ay =180

A

LY

VAR

x-,-. Q_O o " ‘ & '1‘820'“‘};2

x4 F _ Co
/IO?—

42

25 85+495
73120

I9S + 22%+U=)720

1% +9= 120
- b 3 N

A -T2 5 X

wﬂ“/ 22x.+2\\, L X:S

A i

8

s

12. For #20-27, constder the triangle below. In A4BC, the midpoints of the sides ace L, M, and N,
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